SOLUTToNS

Math 252 Calculus II (Bueler) 2 November 2022

Worksheet: Does the series converge or diverge?

For each of the following 13 infinite series, state whether it converges or diverges. Justify
your statement using the following tests (or known series):

e geometric series

o telescoping series

e p-series

e divergence test

e integral test

e comparison test

¢ limit comparison test
In many cases multiple tests can determine convergence or divergence.
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Finally, an observation and a question. In every case above you could use a computer to find sigo, the
(partial) sum of the first thousand terms. In which could you find the exact sum of the series? , % !
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